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 �	��� ا������ ��
� أ�� ��وض 
�دة ا�������ت ���� �� ���� � ،6 ،4 :ا�#"! ا� ��

6، 9، 11، 11، 12، 13، 13، 14، 15، 17، 18، 18  

.  أ6� �5ول ا�23��2ت و ا�23��2ت ا�0 �اآ1-�0  

11  ��د ت�دد ا����� -2  

��2<��  ��د 
�=ال ه;: ا�0 �	�	� ا3-9  

��2<��  ��د ا����0 ا�=س��� �?;: ا�0 �	�	� ا4-9  

� �?;: ا�0 �	�	� ا5-9A��3د ا�0��ل ا���   ���2<�  
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18 17 15 14 13 12 11 9 6 4 � ا���
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N = 
2

15
                                                           : ه= 11 ت�دد ا����� -2   
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�; هg ا� 

 ا�0=ا��� 13 ا��0=ل ه� ا����� ا� � �N2 6	�?�  أآ�Q �6د 

 f�23	�3  

�10 و ا� ��� ا�23�f ا�0 �اآ� ا�0=ا�E ه= �� ��A 15 و
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  m = 
5×2 + 10×4 + 15×8 + 20×4 + 25×2
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14+16
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   =  
9×9 + 11×3 + 13×12 + 15×6

30
 

  = 
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30
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16 + 32 + 48
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 = 
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20+15

2
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2
×8
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    =  
2,5×16 + 10,5×32 + 12,5×48 + 17,5×24 + 22,5×8
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